YEAR 2. PURE NUMERICAL METHODS ~— Chapter 1O

— SHow A ReoT S BETWEEN OC VALVES
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Lo 8) = — vale
5, L(o.6)= + vale
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/—f——*r 34 >  change o~ sign
,,/ . ik is a root

_ Sroud A ROOT 1S CORRECT To GWEN A-p.

ok ol. = 2.307

Chece either side o R 207

JECL?.’SO&S) - —valve.
K 2.3c75) = Hyawe

C\/\ange, OF- s\ar\ 'S itis o voot

9 3065 < K 4 2.3075



— | TERATION

Use bhe previous answer to help yow gek the next
Hpn = AXn i
)G, 3
o, = 22Xt = 2@+ <10
Xz = QA = 2D = AF
Ly = DXg+le = 2@ =024
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—  NELTON RAPHSON PROCESS

\D(_m—l = gy = -V_@CTD

Example

f) = o«

i Xn — (xr\)
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